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&5 X 4 .(Er,na; 'Finﬁb(lnoq)(DEEE’E j:zlfl?licm%)é X 4 Timﬂfé%z(?];kfF .z,n‘?k j:(:ijicf)é R 4 ,(Er,na)k J:m;b(z)(btt.a jj(lfifn?)é X 4 J:me(?)o)ttm .z.n? jj(g')\ﬁcf)é
7 100kN/m##825| 1.00 | 0.00 ~ 391 163.82 | 3m&EBZ 3| 0.00 ~ 241 | 4.17 21.07 | 100kN/m%#8z5| 1.00 | 1062 ~ 5000| 163.82 |3m&EEZB| 2600 ~ 50.00| 4.17 21.07
zhest 100|391 ~ 10| 100.00| EnLS | 241 ~ 11.70| 3.00 156.16 zhLst 1.00) 56.00 ~ 1062 100.00| ThLS | 5.00 ~ 2500]| 3.00 156.16
2 100kN/m%#82% | 1.00 | 000 ~ 383| 16238 |3mEBZB| 000 ~ 232|410 20.72 | 100kN/mM%#825 | 1.00 | 1055 ~ 5000| 162.38 |3m&E#EZB| 2500 ~ 5s0.00)| 4.10 20.72
Zh s 100|383 ~ 162 100.00| ZnLS | 232 ~ 1162| 3.00 156.16 st 1.00) 6.00 ~ 1055 100.00| Thst | 5.00 ~ 25.00]| 3.00 156.16
3 100kN/mM%E#Z5 | 1.00 | 0.00 ~ 354 15719 |3mZEBZ3| 000 ~ 0.38| 8.20 16.18 | 100kN/mi%x#B25 | 1.00 | 1055 ~ 3540 15719 |3m%ERBZB| 2500 ~ 3540| 3.20 16.18
st 1.00 | 8354 ~ 1133 100.00 | #hList | 0.38 ~ 1133 3.00 15.16 FnLst 1.00 | 6.00 ~ 1055 100.00 | =hbst | 6.00 ~ 2500| 3.00 15.16
4 100kN/ Mm% 2% — -~ — —|m%ziEzB| — ~ - — — | 100kN/mMi%#BZ % — -~ — —|3mTEBERD - ~ — — —
LS 100|000 ~ 747 95.38 | #nst | 000 ~ 747 1.81 917 Fhist 1.00| 600 ~ 980 95.38 | #npst | 500 ~ 9.80) 1.81 917
5 100kN/m%#82.% — - ~ — —|3mzE2Z| — ~ — — — | 100kN/M%#BZ 5 — - ~ — —|3mEEZD - ~ — — —
Zn Lot 1.00) 000 ~ 495 61.71 | #hiist | 000 ~ 0.00| 1.66 8.39 Fh st 1.00 | 5.00 ~ 530 61.71 | #hes | .00 ~ 5.30| 1.66 839
G 100kN/ Mm%z 5 — - ~ — —|3mzE2B| — ~ — — — | 100kN/mMZ#BZ.3 — - ~ —|3mzEZ5 - ~ — — —
ZHn Lot 1.00) 000 ~ 705 89.45 | #hLst | 0oo0 ~ 705)| 1.97 9.94 ZhLlst 1001600 ~ 9.70 89.45 | =hpst | 5.00 ~ 9.70| 1.97 9.94
- 100kN/ Mm%z 5 - -~ = —|3mEEzBZ| — ~ — — — | 100kN/mM%#8Z % — -~ — —|3m%E#Z 5 - ~ - — -
zhest 1.00 | 000 ~ 714 90.80 | #nst | .00 ~ 714 | 1.89 9.567 s 1.00| 600 ~ 940 90.80 | #hs | .00 ~ 9.40)| 1.89 957
P 100kN/m#EBZ5| 1.00 | 000 ~ 039 105.76 |3mZEBZZ| — ~ — — —| 100kN/MiZE#BZ22 | 1.00 | 11.38 ~ 1250 105.76 |3mE#EZS - ~ — — —
zhst 1001039 ~ 817 100.00 | #hst | 000 ~ 817 2.41 12.16 Znst 1.00 | 5,00 ~ 1138 100.00 | #hest | 5.00 ~ 1250 2.41 12.16
9 100kN/m%E#8B2%| 1.00 | 000 ~ 047 10689 |3mE#BZ2B| — ~ — — — | 100kN/m%E#Z5| 1.00 | 11.62 ~ 1300 106.89 |3m%EiBZ3 - ~ — — —
st 1.00 | 047 ~ 825 100.00 | =nist | 000 ~ 825|243 12.31 FnLst 1.00 | 600 ~ 1162 100.00 | #host | 5.00 ~ 1300| 2.43 12.31
10 100kN/m%E#Bx25| 1.00 | 000 ~ 236 136.77 |3mZEBZZ| — ~ — — — | 100kN/m%E#25| 1.00 | 1061 ~ 2000 136.77 |3mEiBz23 - ~ — — —
ZHnLt 100|236 ~ 114 100.00| FnLS | 000 ~ 1014| 2.79 14.10 zhLst 100|500 ~ 1061 100.00| Th4 | 5.00 ~ 20.00| 2.79 14.10
11 100kN/m##2 2% — - ~ — —|3mzE2Z| — ~ — — — | 100kN/mMZE#BZ % — - ~ — —|3mEEZ5 - ~ — — —
L 1.00 000 ~ 765 98.00 | #hLs | 0oo ~ 765|211 10.66 Zh s 1.00\| 5.00 ~ 10350 98.00 | =hbst | 5,00 ~ 1030) 2.11 10.66
100kN/m##B x5 ~ ImEHBZ D ~ 100kN/mi%#8 2% ~ 3mE RS ~
Zn Lot ~ LS ~ Fh st ~ Zh LSt ~
100kN/m%#82 % ~ ImEEZD ~ 100kN/mM%# % % ~ 3mERBZ D ~
ZhLs ~ ZhLlst ~ ZTh st ~ Zhst ~
100kN/ Mm% x5 ~ ImEHEZD ~ 100kN/ Mm% %3 ~ 3mEHEZD ~
ZhLs ~ ZhLlst ~ Zhlst ~ Ths ~
100kN/m%#82.% ~ IMEBAD ~ 100kN/m%#8 2% ~ 3mEHBERD ~
ZhLs ~ zhns ~ Fhst ~ Fhs ~




